Given: AB=2 AD and /1 = /2
Prove: ABAC = ADAC

Write a paragraph proof.
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D e/ it

Given: ZABC 2/ DEF, BC || EF

Prove: AARBC is congruent to-ADEF
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Write a flowchart proof. J could algo de ASA

Write a paragraph proof. ’
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‘_Write a two-column proof.
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Determine whether there is enough information to prove that
triangles AVWX and AYXW are congruent. Explain. ‘
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Given that polygon ABCDEF i PA\S \es o.re 2z -
YB isa regular hexagon, prove that AC 2 AE. Write a two-column proof.

Srrenays \ resqon’
\dd- of reper heogn

s GLEFE
A [AGLE LAFE de ofp cep s ey
'S Af det. L opt e .




